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A = - 3,5 - [7,8 + (- 0,9 - 4,7)] - (- 6,6 + 0,9) 
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1( "7�8����",��-�9�������
:�;�7����7�
�7���"
7�&<����#����=�>1 cm ���+�*���/�",�&",�&'�-�G(2 ;-
2)  ���-;2) F(4    �-  ;3) 2-E( . 

2( ,�� �1>�*��H �?,������(�@$����EFGH 0AB� �9C���7 
3(  �?�'���D���E��1>�*��H. 

 

"6��+��	!��
��� )3 52  

1( ��"F����G�6: ABC �1>�*���?H�&I����A . 
2( �G�6: (Δ) ���J7[AB] ��>�$[BC] �1>�*���?HD . 
3( ��"F����1
�	K��7ABD0L���������M 
4( �N�� � �N( :(AC) // (Δ). 
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1( MNP  ?H &I�4 �"F7M �������MP = 3,5 cm   ���MN = 5 cm .  

• �O6: O  P)�*7[NP] ��Q �#��Q:M �����1	
*���O . 

• �?,������1
�	K��7MNPQ 0�L���������M 
2( �G�6: R ����N  P)�*7[RQ]  . 
• �?,������1
�	K��7RNPM 0L���������M  
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�1R��H�?S���1*��T�(%�3850 Kg���5*7��E�(%$�U*�<��V��EW��U"����4�50 kg0  

1"�������1$�������#��TX��/"Y�7��*,��������
��1*��6����	
�  

��/: �?*
��?�������*�$��?"@����5:C��1��,����7�8�3$5,5 t ��9 5500 Kg0�  

����7�1�:�@7D�1H�
���1*$�	������1�
�����&���:�-��57�,��7�1*��6��
�1��������������50x + 3850 < 55000  

  

Z� �[�J����F�$��\�7x�M 
]� ���J��?S��1*��6��������S^_����J��?S�������S��M��
�E^`�M��
�E��?H��������J���0 
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a�4��1*��6������2=�)$b��Zc_���
�Ed���7U*�<��=BYe�-�fB���D;*$�1T�����%���5�H
*7�P�< ��#��, ��g�<���;$�����-�=C��a^��V��E Dd�U*�<:G�6��������!��
���(pilier)�-

�h_�d��
�E:G�6��������P�
���(dalle)0  

��?"$��E�1�
�����&���:����������70a + 3b = 180 

Z� ���H�J����7��E��F�$��\�7a���b�M 
]� ����3�<�G�6:X�U*�<X��?3@$��SZ_�#��, ���Md�?3@$��S����3�<�G�6:Z`��!��,�M�����

�?H����J���0�  
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